2021 Fall Advanced Calculus IT

Quiz 2
Answer all questions. Each question carries 10 marks.

1. Introduce a change of variables (u,v) — (z,y) to transform the region D bounded by
zy = l,zy =4,y = z,y = bz, =,y > 0, into a rectangle in the (u, v)-plane. Indicate the
boundary correspondence.
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2. Find the area of the parallelogram formed by the lines y = 2z,y = 2z+4,2+y =1,z +y =
3. b . . 10 o
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3. Evaluate the line integral [, f ds where C is the helix r(¢) = costi+ sintj + tk ,t € [0, 7]
and f(z,y,2) =32z +zy .
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